Name: __________________________ 

Radioactivity Worksheet       
1. State the number of neutrons and protons in each of the following nuclei:

a. 
[image: image1.emf]
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2H

 : ________________________________________________________

b. 
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 : ________________________________________________________

c. 
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 : _______________________________________________________

d. 
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197Au

 : _______________________________________________________

2. The three types of radioactive emissions are called alpha (), beta () and gamma ()

radiation. Complete the table below with the correct information about each type.

	
	Charge
	Atomic Symbol
	Can Be Stopped By

	Alpha
	
	
	

	Beta
	
	
	

	Gamma
	
	
	


3. Which type of radiation – alpha, beta, or gamma:

a. Results in the greatest change in atomic number? Why?

__________________________________________________________________

b. Results in the least change in atomic number? Why?

__________________________________________________________________

c. Produces the greatest change in mass number? Why?

__________________________________________________________________

d. Produces the least change in mass number? Why?

__________________________________________________________________

4. Complete the following nuclear reactions:

a. 
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b. 
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 ( 
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 + ________
c. 
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d. 
[image: image11.emf]


90
234Th










90

234Th

( 
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5. When isotope bismuth-213 emits an alpha particle:

a. Write out the nuclear equation:

________________________________________________________

b. Which is the parent element? _____________________________

c. Which is the daughter element? ___________________________

d. What new element results if the isotope, instead, emits a beta particle?

________________________________________________________

6. When 
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 emits a beta particle, it transforms into a new element. 

a. Write out the nuclear equation:

________________________________________________________

b. Fill out the chart below:

	
	Name of the Element
	Atomic Number
	Atomic Mass
	# Of Protons
	# Of Electrons
	# Of Neutrons

	Parent

Element
	
	
	
	
	
	

	Daughter Element
	
	
	
	
	
	



_1112159219.unknown

_1112159412.unknown

_1112159510.unknown

_1112159578.unknown

_1112159598.unknown

_1112159480.unknown

_1112159342.unknown

_1112159372.unknown

_1112159295.unknown

_1112159146.unknown

_1112159218.unknown

_1112159128.unknown

_1112159074.unknown

